Lee County Board Of County Commissioners Blue Sheet No. 20061670 **Agenda Item Summary** 1. ACTION REQUESTED/PURPOSE: Approve Change Order No. 2 for B-06-11 STRINGFELLOW ROAD SIDEWALK, to Gulf Paving Co., Inc., Contract No. 3521, in the amount of \$228,770.80. Also, authorize Chairman to execute Change Order on behalf of the Board. 2. WHAT ACTION ACCOMPLISHES: Provides for the addition of an 8 foot concrete sidewalk on the South side of Bonita Beach Road from Hunters Ridge to 300' West of Bonita Grande. 3. MANAGEMENT RECOMMENDATION: Approval recommended. JAN 0 9 2007 C9D4. Departmental Category: 09 Transportation 5. Meeting Date: 6. Agenda: 7. Requirement/Purpose: (specify) 8. Request Initiated: \mathbf{X} Consent Statute Commissioner **Administrative Ordinance** Department Transportation Admin. Code AC-4-4 Division **Appeals** By: Scott Gilbertson, Director Public Other Walk-On 9. Background: On April 18, 2006, the Board approved entering into a contract with Gulf Paving Co., Inc., under B-06-11 Stringfellow Road Sidewalk, in the amount of \$1,679,819.50. Change Order No. 1 was approved on October 24, 2006 in the amount of \$119,500.00. We are requesting approval of Change Order No. 2 to allow for the addition of an 8 foot concrete sidewalk on the South side of Bonita Beach Road from Hunters Ridge to 300' West of Bonita Grande. Funds are available in the following account: 20600218824.506540. 10. Review for Scheduling: Purchasing County Department Human County Other **Budget Services** Manager/P.W. Director Resources Attorney Director Contracts anne Risk Analyst N/A

RECEIVED BY

COUNTY ADMIN

FORWARDED TO:

12.13.66

11. Commission Action:

Approved

Deferred Denied

Other

12.13.06

Rec. by CoAtty

Forwarded To:

1:40 CAD

LEE COUNTY CONSTRUCTION CONTRACT CHANGE ORDER Arr-

ACC+#20600218824.506540 No.: 2

(A Change Order requires approval by the Department Director for expenditures under \$50,000, approval by the County Manger for expenditures between \$50,000.01 and \$100,000, or approval by the Board of County Commissioners for expenditures over \$100,000).

expenditures over \$100,000).		•	ř			
CONTRACT/PROJECT NAME: Strir	igfellow Road Si	dewalk	WAY OF THE PARTY O			
CONTRACTOR: Gulf Paving	PROJECT NO.: 6002					
CONTRACT NO.: 3521	BID NO.: <u>B06-11</u>					
CHANGE REQUESTED BY: County	DATE OF REQUEST: 11/24/06					
Upon the completion and execution of authorized to and shall proceed to make (If you need space other than what has been provided, pleas	e the following c	hanges in the	parties to the Contract the Contractor is Contract Documents:			
Description: Construct an 8 foot cor Ridge to 300' West of I		on the South s	ide of Bonita Beach Road from Hunters			
Purpose of Change Order: Utilize s sidewall		or from the St	ringfellow project to construct this			
Attachments: (List documents support	ing change) <u>(S</u>	ee attached b	ack-up)			
CHANGE IN CONTRACT PR Original Contract Price \$1,679,819.50	RICE:	CHANGE IN CONTRACT TIME: Original Contract Time 180/210 Calendar Days				
Previous Change Order No. $\underline{0}$ to No. $\underline{1}$ \$119,500.00		Net Change from previous Change Orders 45 Calendar Days				
Contract Price prior to this Change Ord \$1,799,319.50	ler	Contract Time prior to this Change Order 225/255 Calendar Days				
Net Increase (Decrease) of this Chang \$228,770.80	e Order	Net Increase (Decrease) of this Change Order 90 Calendar Days				
Contract Price will all approved Change \$2,028,090.30	e Orders	Contract Time with all approved Change Orders 315/345 Calendar Days				
			the CONTRACTOR constitutes an accord and costs arising out of, or incidental to, the above			
RECOMMENDED:	ACCEPTED	2	COUNTY APPROVAL:			
By: Consultant (if applicable) Date,	By: Contractor	ouse	By: Department Director (Under \$50,000)			
By: My Africa Date Department Director Date	Date Accepted:	11/29/06	Date Approved:			
Contracts/Management	(CORPORATE S	SEAL)	By: County Administration (Under \$100,000			
APPROVED:			Date Approved:			
County Attorney's Office Date			By: Chairwoman Board of County Commissioners (Over \$100,000) Date Approved:			

DATE 1/0/1900

TRANSMITTAL FROM

•	G	ULF PA	VING CO)MPAN	Y, INC.	
			D. BOX 1584 3460 MET FT. MYERS, FL 339 NE (941)334-3652 FA WWW.GULFPA	902-1584 X (941)334-0940		
		INCLUDING THIS COV	ER SHEET YOU SHOUL	D RECEIVE2	PAGES	
TO: ATTN FAX:	LEE COUNTY PUBL 1500 MONROE STREET FORT MYERS, FLORIDA 339 RANDY CERCHIE		RE: ## DATE	BONITA BEAC 06-153 NOV. 17 2006	H ROAD SIDEWALK	
		WE ARE	SENDING YOU THE	FOLLOWING ITEMS		
	Proposal X	Copy Of Letter	Spec's & Plans REASON FOR TRA		Invoice Other	
	For Approval	_ For Your Use	As Requested	For Review & Comm	ent For Bids Due	
	2 RE 3 PR AN 4 SU	D WITHOUT REVI	CTURES NOT LIST ANS BY PITMAN I SIONS	HARTENESTIEN	& ASSOC. DATED JULY 20 2 CAVATION AND DISPOSAL	:006
	PHONE (941) 334 - 3	3652				
	FAX (941) 334 - 0940					
				SINCE!	RLY Muy LAUSE	

GULF PAVING COMPANY, INC.

P.O. BOX 1584 3460 METRO PARKWAY FT. MYERS, FL 33902-1584 PHONE (941)334-3652 FAX (941)334-0940 MICHAEL@GULFPAVING.COM

PROPOSAL

TO LEE COUNTY PUBLIC WORKS

DATE:

1500 MONROE STREET FORT MYERS FL

06-153

AT RANDY CERCHIE

0

JOB NAME AND LOCATION:

BONITA BEACH ROAD SIDEWALK

We hereby submit specifications and estimates for:

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	ITEM DESCRIPTION				
Α	MOBILIZATION	1	LS	\$20,000.00	\$20,000.00
В	MAINTENANCE OF TRAFFIC	1	LS	\$5,000.00	\$5,000.00
U	NPDES	1	LS	\$2,500.00	\$2,500.00
۵	BAYLED HAY	4	EA	\$100.00	\$400.00
ш	STAKED SILT FENCE	1961	LF	\$4.00	\$7,844.00
IL.	CLEARING & GRUBBING	1	LS	-\$67,810. 00	\$67,810.00
(J)	EXCAVATION	767	CY	\$10.00	\$7,670.00
Ι	EMBANKMENT	188	CY	\$25.00	\$4,700.00
	CONCRETE CLASS 1	5	CY	\$200.00	\$1,000.00
7	TYPE 'E' DITCH BOTTOM INLETS	5	EΑ	\$2,500.00	\$12,500.00
Κ	MANHOLES TYPE P-7	1	EA	\$2,500.00	\$2,500.00
ᆚ	STORM CULVERT 18"	23	LF	\$51.75	\$1,190.25
М	STORM CULVERT 19/30	78	LF	\$76.25	\$5,947.50
Z	STORM CULVERT 24"	134	LF	\$66.75	\$8,944.50
0	PIPE DESILTING 24"	299	LF	\$17.50	\$5,232.50
Ω.	PIPE DESILTING 29/45	284	LF	\$17.50	\$4,970.00
Q	18" MITERED END SECTION (SD)	2	EA	\$750.00	\$1,500.00
R	19/30 MITERED END SECTION (SD)	2	EA	\$960.00	\$1,920.00
s	24" MITERED END SECTION (SD)	2	EA	\$880.00	\$1,760.00
Т	ALUMINIUM HANDRAIL	282	LF	\$100.00	\$28,200.00
J	TYPE 'F' CURB & GUTTER	250	LF	\$25.00	\$6,250.00
W	CONCRETE SIDEWALK 4"	1650	SY	\$30.00	\$49,500.00
Х	CONCRETE DITCH PAVEMENT	16	SY	\$25.00	\$400.00
Y	SODDING	819	SY	\$16.45	\$13,472.55
				SUB TOTAL	<u>\$261,211.30-</u>

32,500 TRE

225,901.30

DATE:

GULF PAVING COMPANY, INC.
P.O. BOX 1584 3460 METRO PARKWAY
FT. MYERS, FL 33902-1584
PHONE (941)334-3652 FAX (941)334-0940

PROPOSAL

0

0 0 0

TO

AT"

FAX JOI	B NAME AND LOCATION:	0	0						
	We hereby submit specifications and estimates for:								
ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT				
Z	RELOCATE EXISTING SIGNS	2	AS	\$150.00	\$300.00				
AΑ	REFLECTIVE PAVEMENT MARKERS	16	EA	\$9.00	\$144.00				
вв	SOLID WHITE STRIPE (6")	9	LF	\$1.50	\$13.50				
CC	SOILD YELLOW STRIPE (6")	188	LF	\$1.50	\$282.00				
DD	SOLID WHITE STRIPE (12")	617	LF	\$3.00	\$1,851.00				
EE	SOLID WHITE STRIPE (24")	62	LF	\$4.50	\$279.00				
				SUB TOTAL	\$2,869.50	72/2_			
					d v	742 728,770.80			
		:		TOTAL	\$264,080.80	228,770.80			
						"			
					·				